MAT 27050\ OFF Test? Apswers

B Blen[i)= (1

) T%H(c?)écs)]: Hl]‘[‘]
B 1l
"EEE

3413

y &5 = L2747
+3<1,3

< Maxs %y = <0~ W3t ot 47
= £ < 0,-43,Yz, 1>

)| basis of subn space :  { €0,~%3, 45, 1> §

Yoy o '~£H+ i[—']Jf ‘]:[o
© [f] 1173307180719
one indegendent inear m\ahonéwlp

= | =43 +Y3 +) {— 33 o
=l12-ca\= o) v
o o)

"4/3 -2z +2
—4/3 +4/340

2 =3 -3 .

@ [ 2l=0 {inearly
3_c-4 dcpeode:d'
{ 273 .
4 s ¢ - O [\ﬂ‘tq,t'\j
739 dependart
(273 :
22 1 \ 2—(8  lineary
% | 2 lno\e‘endaq\'

determinants evaduated with Maple .
-—-9
A.)’(' =0 wr“m o\e¥(lﬂ *0 Means

=A"0= =3 only e zer Son exishs
ﬁ)r wefficents of \mmr combingtions of
the columrs whdn us the zed vecter.

When dek (A =0, nonzen soluions exust
since there mustbe at-led- one vardsle
for the square linear syslem matnx reduchon,
hence (inear re\dwr)s\'\nps exist among those

clumns.



